Mote [l
L. 1Vl:=p01 nt(v,v)

R:=point(3,1/2)

point(3,1/2) |
P1:=point(-5/2,-3/2)

[point(-5/2,-3/12)
P2:=point(1/2,-1)

point(1/2,-1) |
P3:=point(2,5/2)

[point(2,5/2)
B vecteur(R,M)

-3,-1/2]
vecteur(R,P1)
[-11/2,-2]
E vecteur(R,P2)

[-5/2,-3/2]
g vecteur(R,P3)
-1,2]
vecteur(P1,P2)
(13,1/2]
vecteur(P3,R)
([1,-2]

resoudre(vecteur(M,point(x,y))=vecteur(M,R)+
[15/13,-1515/1313],[x,y])
[[54/13,-17/26]]

P4:=point(ans()[0])

point(54/13,-17/26)




&l

O:=point(0,0) Y
MO:=point(1,0) . . ' ' ' I
point(1,0)

M1 :=rotation(0O,60,M0);

point(1/2+(i)*sqrt(3)/2)

hexagone(M0,M1,M2,M3,M4,M5)

affichage(bleu+epaisseur_ligne 2):;

S 2

B rvecteur(O,M1);rvecteur(M3,M2);
rvecteur(M4,0);rvecteur(M5,MO);

affichage(rouge+epaisseur_ligne_2):;

E rvecteur(O,M2);rvecteur(M4,M3);
rvecteur(M5,0);rvecteur(MO,M1);

B affichage(vert+epaisseur_ligne_2):;

rvecteur(O,MO);rvecteur(M2,M1);
rvecteur(M3,0);rvecteur(M4,M5);

affichage(noir+epaisseur_ligne_5):;

rvecteur(O,vecteur(MO0,M1)-vecteur(M1,M2)) J

polygon(point(0,0),point(1/2-1-1-(1/2-1-sqrt(3}|
T

|
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6 | Fig Edit Graphe Wiovie (M1
assume(xa:=[-2.8,-5,5])
[parameter(xa,-5050-28) |

assume(ya:=[-3.1,-5,5])

parameter(ya,-5.0,5.0,-3.1)

assume(xb:=[2.4,-5,5)) ||

parameter(xb,-5.0,5.0,2.4)

assume(yb:=[3.3,-5,5])

parameter(yb,-5.0,50,33) @

A:=point(xa,ya)
point(xa+(i)*ya)

B B:=point(xb,yb)

resoudre(3*vecteur(point(x,y),A)=-vecteur(point(x,y),B),[x,y])
[[[(-3*xa-xb)/-4,(-3*ya-yb)/-4]]
E M:=point(ans()[0])




point((-3*xa-xb)/-4+(i)*(-3*ya-yb)/-4)

9 A AB
[[1/4],[1/4]]

10 A,B
polygone(point(xa+(i)*ya),point(xb+(i)*yb))

il co A

polygone(point(xa+(i)*ya),point((-3*xa-xb)/-4+(i)*(-3*ya-yb

va B
point(2*sqrt(2)+(3*i)*sqrt(2))

point(1-sqgrt(2)+(i)*sqrt(2))
4 G A,p € A,B
([sart(2)*4,sqrt(2)11]]

point(sqrt(2)*4+(i)*sqrt(2)*11)
[[‘1/2,011

point(1/2,0)
[[‘-SGIft(2)*4+1,-8qft(2)*11]]

point(-sqrt(2)*4+1+(i)*(-sqrt(2)*11))

10 €
"Done"

11 ¢ p
[-sqrt(2)*11/(8*sqrt(2)-1)]

12fi%
point(-sqrt(2)*11/(8*sqrt(2)-1))
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